1074

Ratio to Sherpa 2.2.9 default
[N

0.5

1960 GeV ppbar
L L B N NN B

_Top (parton level)

Rivet 3.1.10, 2.8M events

B I 1 T |
= pPT (top) =
= LTI =
- N .
¢4 ‘0‘
L 0 0” ]
| ¢ o0, _
= ‘o,’ =
— ¢ -
¢ % -
_ ’00, ]
o * _
0"
_ MR _
= %, =
— .‘ —
— 4oy -
L 0.‘ i
L N’ -
Q"“
- w, I
o ¢ Sherpa 2.2.9 default LA
_|,|||||| T |||||,||.|.| 1
:l T T T T | T T | T T T | T T T T | T T I:
| L 1 1 1 1 L | L 1 1 L | L 1 1 1 L | L 1 1 L 1 1 L | L 1 1 L 1
0 100 200 300 400

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


